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QUESTION 1

Which of the following actions ensure the "atomic" property of a transaction processing system?
A. Restart and recovery

B. Commit and rollback

C. Accept and deny

D. Apply and retry

Correct Answer: B

QUESTION 2

Which of the following is required for an MQ application to send a message to another application on a different
computing platform?

A. Establish an asynchronous communication channel to effect the transfer
B. Establish a synchronous communication channel to effect the transfer
C. Use an MQI bidirectional channel to effect the transfer

D. Use a logical MQ channel to effect the transfer

Correct Answer: D

QUESTION 3

Which of the following is the most common business application mainframe workload?
A. Batch and online transaction processing

B. Printing and distribution processing

C. Backup and archiving processing

D. Restoration and recovery processing

Correct Answer: A
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QUESTION 4

Which of the following is one of DB2\\'s three required address spaces?
A. Distributed Data Facility Services

B. Message Processing Services

C. Stored Procedure Services

D. Lock Manager Services

Correct Answer: D

QUESTION 5

Which of the following is true of Type 4 JDBC drivers?

A. Fully written in java, can be ported to any platform that supports DBMS protocol.
B. JDBC API calls platform and database specific code to access the database.

C. JDBC default driver for z/OS

D. Offers the best performance

Correct Answer: A
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